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SIMPLIFICATION WORK SHEET

BOOK SOURCE SPLIT UP
STD NEW TERM Exercise
TITLE OLD
6 NEW 1 1.3
7 OLD 1 1.1to1.8
Simplification 7 NEW 1 1.1to 1.6
8 OLD 1 11,1.2,1.3
8 NEW 1 1.1,1.2
9 OLD 2.2
9 NEW 2 3.2
10 OLD 3.11
10 NEW 34,35, 3.6
R.S.AGGARWAL | Page No: 95 - 205
(2020 Edition)
Important Formula :
1. (atb)2=a2+Db2+2ab 17 _Va
2. (a-b)2=a2+Db2-2ab ' b
3. -b2=(a+b)(a-b) 13.
4. (a+b)2-(a-b)2=4ab 14. _x5
5. (a+b+c)2=a2+b2+c2+2(ab v
+ bc + ca) 1. n
6. ad+b=(a+b)(a2-ab+b?) 1? o= 1 (where a # 0)
7. -b3=(a-Db) (a2 +ab + b?) =
8. am x gn= gmn 18, am"=ta" n
9. 2_: = qmn 19. :(a% =a
10. (a X b)n = gn X bn 20. a. Q/B
Ya
21.
- Yo
1. |2]-2
(bj b" 22. =t/a”
23, W fa=4{¥a
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24. (a-b-c)2=a2+b2+c2-2ab+ 25. (a + b)2+ (a-b)2=2(aZ+b?
2bc - 2ca
BODMAS Rule :
BODMAS
B Bracket
O of
D Division
M Multiplication
A Addition
S Subtraction
Modulus of a Real number :
Modulus of a real number a is defined as
la| = { aifa>o
-a, if a < 0) }
thus |7| =7;and |-7|=7

26. a*+b3+c3-3abc=(a+b+c)(a2+ b2+ c2-ab-Dbc-ca)
27.  (a+Db)?=a3+3a%b + 3ab? + b3
28. (a-b)*=a?>-3a?b + 3ab2 - b3

X + %= a; then

1. X2 + %(Z:az—Z 1. x3 + %(3=a3—3a

ifi. x - 3/ = Ja'-4 iv. xt+ . = (a2-2)2-2

V. X5+ %(5= (a2-2) (@>-3a)-a vi. x6+ %(6= (a3 -3a)2-2
Virnaculum (or) BAR:

When an expression contains virnaculum, before applying the ' BODMAS'
Rule, we simplify the expression under the virnaculum.

Level -1
1. 108+36o0f 1+ 2x3 1
4 5 4
a. s b.1 L .13 2 d12 8
4 20 10 10

2. 2-12-{2-2)(2+2)}] =7
a.-4 b. 4 c.6 d. none of these
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10.

180x15-12x20 _

140x 8+ 2x55

a. 1 b. 4 c.2 d. 4
7 5

52_38_72-1
6 9
3 2 18

§of ﬂof §of 21 of 504

5 7 9 24

a. 63 b. 69 c. 96 d. 84

By how much is three fifth of 350 greater than 44 of 210
350 &0 mbAHeL cpadiml Lk Spergl 210 60 % RIS QI 6T6UAI6TE)]

SIFHBLD?
a. 90 b. 110 c. 120 d. 210
What is the value of (P+Q) if P=7
(P-Q) Q

P_ . (P+Q) . .
5 7 eleoflen (F=0) T DAL ?
a. 1 b. 2 C. 4 d. !

3 3 3 8
%:ﬂ , then the value of 6a+4b

3 6a—5b

a :ﬂ 6a+4b .
4 37" 6a—50 oy
a.-1 b.3 c.4 d.5

2

3( = 4and b/-15/. then 22122 is

%= 4% Y15 s eiod % e o)
a % b. %5 C. % d. none of these

(0.000729) * x (0.09)

3 5 2 6




Level - I1

11.

12.

13.

14.

15.

16.

17.

Find the value of /3y3/3...

a. 3! b. 32 c. 33 d. 3¢

WA BTEWTSH: 1/3433...
a. 3! b. 32 c. 3 d. 34

(561x561)—(31x31)

530

——— (561x561)—(31x31)
B>G: 530

a. 530 b. 561 c. 31 x 31 d. 592

simplify:

3729 327
3512 +3/343
. 3[729 —3[27
5(HBSGS: ————=

3/512 +3/343

simplify:

2
a. b. %0 C. % d. %
If 4x + 5y = 83; and 3—X=E, theny - x =7
2y 22

M. 3 . . .
4x + 5y = 83 wBuIb 2—);/=2 Do G160 Y = X @i Logliy?
a.3 b.4 c.7 d. 11

2 3 4 5

(9991+999—+999—+999—+999—+9999] is simplified to
7 7 7 7 7 7

Gi(HHGHH: (999l +999E + 999§+999ﬂ + 999E + 999§]
7 7 7 7 7 7

a. 2997 b. 5979 c. 5994 d. 5997

When (25-+2 )2 is simplified, we get
(2J§—J§)2 BH6 G(HRIESU EUIQEILD
a. 4/5+2\2 b. 22-410 C. 8—44/10 d. 2410-2

0344034 =
a. 0.687 B. 068 C. 0.68 d. 0.687
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x = J5+2then find the value of x2+i2
X
— . , 1 . . )
X = \5+2 alafled x*+— &1 WHLIGDL HTCWID.
X

a. 23 b. 21 c. 18 d. 29

simplify: 24/72x5./32x3+/50
F(HBGB: 272 x532x3/50

a. 304/115200 b. 720042 C. 144002 d. none of these
Find the value of 4- 5 1
1+
1
3+ 1
2+
4
a. 1 b. 129 C. L d 98
8 40 16 8
AL HTewidh: 4— 51
1+
1
3+ 1
29%8
4
a. 1 b. 1% G g cil.§
8 40 16 8

X+% = 2 then X3+%(3
x+%=26r66‘ﬂ6b x3+%(36&r D&
a. 8 b.2 c.6 d. 4

Simplify \/ 214+\/112+\/74+\/E

a.15 b. 18 c.25 d.17
F(HEBEGHD \/214+\/112+\/74+\/E

a.15 b. 18 c.25 d.17
Find the value of \/41—«/ 21++/19-+/9

a.”’/ b.5 c.6 d.9

OIS SBITewT \/41—\/21“/19—\/5

a.7 b.5 c.6 d. 9




Level - 111
445 4-5 .
_ =a+
24. NN - a + b+ find the value of a and b.
4+6 4-\5 . . . .
— = +
o a2 b5 ea@ied a, b & WA BMmE HTEwHIH.
a.a=1,b=0 b.a=0,b=_—16
11
c.a=1,b=E d.a=0,b=E
11 11
25. If 2=x+ 1 then the value of xis
1+——
3+1
4
a.E b.E c.g d.2—1
17 17 17 17
2= x4—1 616060 X 60T LDGIIL| SHT6wIb.
1+ ——
e
a.g b.E c.E d.2—1
17 17 17 17
26. Simplify: (7 Ja -5 +b) (7 Ja +54b)
FhSG&: (7 \a -5 vb)(7 Ja+5b)
a.7a2-5b2  b.49a-25b c.49a2-25b2  d. (7Ja-5¢b)
Solution:
(a—b)(a+b) = a®-b?
(-848) (i 56) = 7 (4] -5 35
=49a - 25b
-1/ =6 fi 3 _
27. y- },=6find the value of y %3
Ry s : .
y % 6 clalled y %smw‘aﬂuu
a. 216 b. 222 c.234 d. 228
Solution:

y




28.

29.

y 'y
3 5 1 3
6)’ =y’ ———3y+>
(6) =y VR A
216 + 3(6) = —%
y -1 =234
y

find the value of a, b if ? =a\J7 +b

a, b uler wAHliewL SHew. \/_ _aJ_+b

a.a=%b=1% b.a:—}/;b=A
c. a="44b=-11/ d. a="4 b=11/

Solution:

V12 = a7+
N7 +2 \

J7-2 ) NT-2 _ 7-2J7-27+4
JT+2 0 J7-2 7-4
47 _ a7 +b

3
:>a=_—4andb=1—1
3 3

S

If x = J3+1, find the value of (x—%)2
X = 3+1 elafled (x—%()2 &1 &iy?

a. V3 b.3 c.2 d. 4
Solution:
X = \/§+1
1_ 1 \3-1_ 43-1
X B+l Bl 3-BiB-1
N
2
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E = \/g_]_
X
2 2
X——| = 3+1)-(~3-1
(x-2] = ((2+1)-(5-1)
2
= ()ﬁ+1—)ﬁ+l)
= (2 =4
3
) . 8
30. simplify: — 2%
pity X* +4x? +16
) x®+8
TOEOP 16
X+2 X—2 X+2 X—2
T X2 42x+4 T X2+ 2x+4 T x2-2x+4 " x2-2x+4
Solution:

X*+8 = x*+2°
= (x+2)(x* +4-2X)
X! +4x% +16+4x* —4x°
x* +8x* +16—4x°
(x* +4)2 —(2x)’ Since, (a+b)’=a®+2ab+b?
(x2+4+2x)(x2+4—2x)
‘ % +8 \ (x+2)(M)
Xt +4x7+16 (x2+4+2x)(}2/|/4—/2x)
X+2
X2 +2x+4

SIMPLIFICATION WORK SHEET - ANSWER
1 2 13 1 4|5 6 7 1 8 1 9 |10

c bpbjc C D/ A C|C B |D
11 |12 |13 |14 | 15 | 16 | 17 | 18 | 19 | 20

X* +4x* +16

A D A B D B|A|C| B | A
21 |22 123 124 25|26 | 27 |28 |29 | 30
B A|C D D | B C D|D|A




